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%% wegw B ¥ g8 Fefafam # @ feas
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(@) AfRw 3w
(b) CO,
(c) TEERF T
(d) T
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(@) a: Trem g IR afeR 939 W

6. Fr¢ =t FFfl @S =2A (cliff) F IWA T

o § ot e F 55 F W@ @R
yfaeafy g @ R IR @l K oW
340m/s §, @ @A WA ¥ =;E f
foraeh 27

(@ 1700 m
(b) 170 m
(c) 85 m

(d) 850 m



1. A sprinter feels cramps and pain in the

thigh muscles after a run. This is due
to accumulation of

(a) lactic acid
(b) CO,
(c) pyruvic acid

(d) ethanol

2. A leaf was plucked from a plant on

a sunny day and kept for 2 minutes
in boiling water. It was subsequently
immersed in boiling alcohol and treated
with iodine solution. What will be the
final colour of the leaf after the test?
(a) Colourless

(b) Green

(c) Blue

(d) White

3. If the red blood cells (RBCs) of human

blood are isolated and are diluted in
normal saline (an isotonic solution to
blood), what will happen to the RBCs?

(a) The RBCs will swell
(b) The RBCs will swell and burst
(c) The RBCs will shrink

(d) No change in the diameters of
the RBCs
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4. Which one of the following statements

regarding bile secreted by liver is not
correct?

(a) Bile contains enzymes for digestion
of lipids.

(b) Bile facilitates emulsification of
fats.

(c) Bile neutralizes the acidic pH of
the food coming from stomach.

(d) Bile makes the pH of the food
alkaline and facilitates action of
pancreatic enzymes,

5. The blood pressure of a normal human

being is found to be 120/80 mmHg.
These “‘numbers’ represent the blood
pressure at

(a) ventricular contraction and
ventricular relaxation, respectively

(b) ventricular relaxation and ventri-
cular contraction, respectively

(c) auricular contraction and auricular
relaxation, respectively

(d) ventricular contraction and
auricular contraction, respectively

6. A person burned a firecracker in front of

a cliff and heard its echo 5 s after it
burst. The distance of the cliff from
the person, if the speed of the sound
is 340 m/s, is close to

fa) 1700 m
() 170 m
fc) 85 m
(d) 850 m

[P.T.O.




7. ARG 3 HEEd BH % TfE F dR 8§

Frefafga wot w faar Hifve

1. TIEHHH, @ # FfF G%d (signal)
# yfEfda 81

2. WIEHEH, i F Jga Gha § wRafda
T R '

3. ©ffa, ¥if® @%d 9 @l § giEfda
EruRd

4. wiieRr, 30 Gha # a7 gRafda s
21

I § | FH-A F9F T 27
(@ 13R3
(b) 134
() 23R3
d 23R4

8. 100 W % U% fagq oea #1 fA & 10 &

W § @ S #) 9ew g7 3 A § fheh
gfe dga Fw i @ea A Swh?
(1392 = 1 kWh)

(a) 300
(b) 1-08
(¢) 216
(d) 0-33

9. THENH =W F Wy Wefh Y@ # 1fy = I

forelt =01 % oI An-awg W% & 3Faria &
frefa = 27

(a) 91 3f|a I

(b) 3T Fae fararm
(c) % W a7 T T
(d) Iuh iEa =
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10. 10 cm %i%d g 9@ A9 A gwan fBra 27

(@) 0-1 SEATX
(b) 1 SRIHTRX

(c) 10 SHEATH
(d) 100 BEAHATE

11. 9 ¥ Wfifirm feq & wem | wef@

Frfafaa wut w fomm fifvm

1. MgO %1 &a o sar 2|

2. I8 gg il %1 T 3w R
3.  Fwq 3Ry Ieqd B R
I § ¥ FH-Y Y qE 87

(a) Faa 1 3R 2

() Faa 1 3R 3

c) Fad 2 3R 3

(@d 1,23R3
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(b) 23R4

(c) 233
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7. Consider the following statements about

the microphone and the speaker of
a mobile phone :

1. The microphone converts sound to
a mechanical signal.

2. The microphone converts sound to
an electrical signal.

3. The speaker converts a mechanical
signal to sound.

4. The speaker converts an electrical
signal to sound.

Which of the statements given above are
correct?

fa) 1 and 3
(b) 1 and 4
() 2 and 3
(d) 2 and 4

8. A 100 W electric bulb is used for

10 hours a day. How many units of
electrical energy are consumed by the
bulb in 3 days? (1 unit = 1 kWh)

(@) 3-00
(b) 1-08
© 216
(d) 033

9. The area under the velocity-time graph

for a particle moving in a straight line
with uniform acceleration gives

(a) its average velocity
(b) its net displacement
(c) the distance travelled by it

(d) its average speed
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10.

11. Consider the

12.

The power of a lens of focal length
10 cm is

(a) 0-1 dioptre
(b) 1 dioptre
(c) 10 dioptre
(d) 100 dioptre

following statements

regarding burning of magnesium ribbon

in air ;

1. White powder of MgO is formed.

2. It is an example of combustion
reaction.

3. Heat and light are produced.

Which of the statements given above are

correct?

(@ 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d 1, 2 and 3

Which of the following statements with
regard to the reaction given below are
correct?

CaO(s) + H0(l) — Ca(OH), (ag) + Heat

1. Quicklime is used for
washing of walls.

2. The solution of slaked lime is used
for whitewashing of walls.

3. CaO reacts slowly with CO, in
air to form a thin layer of CaCO,4
on walls. -

4. Calcium hydroxide called ‘slaked
lime’ is an inorganic compound.

white-

Select the correct answer using the code
given below.

(@ 1 and 4 only
(b) 2 and 4

{c) 2 and 3

(d 1, 3 and 4

[ P.T.O.




13. ST W oS T T F a9 (heating) F

day # Frafefas § 3 F9-8 w9 w6 &7
1. NO 1 0 ¥ (fume) Feherar 21
2. TR 0, T frwad )
T7 fadiertor AffHan 1 & e 2|

3

4. T® NO, M& ¥ IarA & for wgeh Fom
{YYed (thermal decomposition) 1
T RE R

R e M 2 F wEm W T W g
(@ 132

(b) 2,334

c 1,334

(d) Faa 2 3 4

14. Pefafas #§ § FR-9 ATadwo afufwmn T

??

(@) <R TSI A

(b) GE Had Gredl

(c) faFamftal (Rancidity)

(d) <&
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15. WG % UF 59 & an ¥, Fefafas gl

{clucs)‘l’(ﬁﬂﬂiﬁﬁﬂ:

1. T ‘o T@ R el vt e g’
¥ &9 3 9 S

2. 3EH WG % B: § A fF 3-3FHfas gam
(division) &I

3. W& I[W F FA &ABA H @I 2-39
ftrera & en gan R

fiu U HHA ¥ YR W T A wwEH
Hifs)

16. frafafaa § A fFa Tsa-wgg A Hwrd derme

| wTh 87

(@) Ffem, Ty wew, FAeH, HEWE
(b) BEETE, Y T, FAlCH, WA W
(c) INfEm, iy YW, FAieH, HA TN
(d) BHETG, Y Wou, FAZH, HEWY

17. T 3 g it = 9amn B 39 fiew ad =)

faftm ofell, Ta:, dees, TRUHT, HOE
#r gferne # e fer e s fefafaa
%} o Tt § o fRan?

() WP, e, e, qfieETg
(b) WRTR, HeTEE, Y W, qfeHTg
(c) Tosivm, sem, ¥, afteTg
(d) Tirm, 3mm, Ty wem, afeTg



13. Which of the following statements with

regard to heating of lead nitrate powder
over a flame are correct?

1. Brown fumes of NO are released.
2. Colourless O, gas is released.

3. It is an example of oxidation
reaction.

4, It is an example of thermal
decomposition used for the
production of NO, gas.

Select the correct answer using the code
given below.

(@) 1 and 2
(b) 2, 3 and 4
fc) 1, 3 and 4

(d) 2 and 4 only

14. Which one of the following is not an

oxidation reaction?

(a) Rusting of iron

(b) Opening of soda bottle
(c) Rancidity

(d) Combustion
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15. Consider the following clues about a

State of India :

1. Itis known as ‘land of red river and
blue hills’.

2. It contains three of the six
physiographic divisions of India.

3. It covers about 2:39 percent of
total areas of the country.

Identify the State on the basis of the
given clues. .

(a) Karnataka

(b) Andhra Pradesh
(c) Assam

(d) Chhattisgarh

16. Which of the following sets of States

shares boundary with Telangana?

(a) Odisha, Andhra Pradesh,
Karnataka, Maharashtra

(b) Chhattisgarh, Andhra Pradesh,
Karnataka, Madhya Pradesh

(c) Odisha, Andhra Pradesh,
Karnataka, Madhya Pradesh

(d) Chhattisgarh, Andhra Pradesh,
Karnataka, Maharashtra

17. Rani told her friends that last year she

did boating in four different lakes,
namely, Loktak, Barapani, Kolleru and
Pulicat. Which of the following States
did she visit?

(a) Manipur, Meghalaya, Kerala,
Tamil Nadu

(b) Manipur, Meghalaya, @ Andhra
Pradesh, Tamil Nadu

(c) Mizoram, Assam, Kerala,
Tamil Nadu

(d) Mizoram, Assam, Andhra Pradesh,
Tamil Nadu

[ P.T.O.



18. 2011 i SAT % ger, Fe=fafea & |
PH-T1/FH-8 FYF TE 8/27

1. Y@ =fE, St Faa I g @ fig forma
T Fehdl, 9 WER T )

2. T 9d IR @ Afr A 9y F =f,
St foeft oft s A e w@d g 9g iR
for@ 3t gepar B, 1 TER HET ST R

IR feu T %2 1 w@m W g W g
(@) ¥ 1

(b) #fﬂﬁz

(c) 1323

(d Fd@1ARAE2

19. YRA & F9Y: fhod 79 3R WoEg TsA1 7 4
B Foh-t@1 ot 87

(@ 137
(b) 236
¢ 235
(@ 33R5

20. Preffad # 3 F-6 Rfy EEdf A o
A T Tt 87

(@) wm win Hi d@ gfg, mgid 4 it
s _

(b) mnﬁﬁmzﬂ_qm
(c) F-9id & =

(d) SRS 1 I=R T
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21. Frefafad & &4 #R-# fifwl swfey w9 @

oW W ggH U HEEal il ¢ R s

FAEEY Y ARREIH  (appreciation of
currency) Bl 87

(a) T TswE iR ffss Afa
(b) EFEAEH T 3R Wiy Afa

(c) wmmmﬁwm
fses iy

(d)ﬂﬁﬁrﬁn‘ram‘-ﬁﬁaﬂtﬁwwﬁ
TR Hify

22. R TR =9 § wH & ru e few =g 8

HHeH I 1 FEd 87
(@ (Pt fEm =+1) sfefm  (Crowding

out)
(b) (Fsft faw 1) @A (Crowding in)
(c) T@w sgM (Pump priming)

(d) Efm (Dumping)

23, frafafe # ¥ FR-m/AR-A, A smEm

/% kW 2/27
1. USEl/|9 TSa-431 R Afoal @eg &
2. UPH R Ty W R Pt w sreen

3. FE-feal wa dufafy A v s
e fesmea =

2 fa o g2 w1 W W v Iw gl
(@) HFd 1 AR 2

(b) Fad 2 3R 3

(c 1,23R3

(d) *aa 3



18. According to the Census 2011, which of
the following statements is/are correct?

1. A person who can only read but
cannot write, is not literate.

2. A person aged seven years and
above, who can both read and
write with understanding in any
language is treated as literate.

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

19. The Tropic of Cancer passes through how
many coastal and landlocked States
of India, respectively?

fa) 1 and 7
(b) 2 and 6
{¢) 2 and 5
(d 3 and 5
20. Which one of the following situations can
lead to inflation?

(a) Rapid growth of aggregate demand
outweighing supply

(b) Sluggish growth of aggregate
demand

(c) Reduction in the money supply

(d) Higher levels of unemployment
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21. Which of the following policies help

to raise interest rate unambiguously
and thereby lead to appreciation of
currency?

(a) Expansionary fiscal and monetary
policy

(b) Contractionary fiscal and monetary
policy

(c) Contractionary fiscal policy and
expansionary monetary policy

(d) Contractionary monetary policy
and expansionary fiscal policy

22. The contraction of private investment

spending due to deficit spending by the
Government is called

(a) crowding out
(b) crowding in
(c) pump priming

(d) dumping

23. Which among the following is/are the

objective /objectives of the NITI Aayog?

1. Imposing policies on the
States/UTs G

2. Allocation of funds at National and
State levels

3. Design strategies and long-term
policies and programme frame-
works

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
fc). 1,2 and 3
(d) 3 only

[ P.T.O.




24. fufy ey @fy & anur w ot wfy ==fs

3991 G (MPCE) % ey #§ et % qftaem
1 i fohweh gm0 i i ofi? :

(@) EHTETen wfifa
(b) e wffd
(c) T afufy
(d) e aiufa

25. Fafofaa & | FR-w/FR-2, W I

fawma fiem (NSDM) #1/% 3u-32wg &/87

1. EEYTTE wiheo

2. HYZIRE USFR

3. UESHE UG AT F1 AN I8
(leveraging)

i faw 7T F2 1 @ =W wd W ghu

(@ *ad 1

(b) a2

(c) 1,233

(d) a2 3R 3

26. POSHAN 3f{gm = sEifRa #0 % fig

Frafafas & @ Fw-d@ SR /FEARE
HITE T B/7
1. qER Fa ggen F fow iw-dsha

Af e (inter-sectoral convergence)

2. Wikl 3R T 6 IRafa® 99 (real
time) # g N FH=R FT F fog
WRNfE (ICT) 1 W&

= fow T g2 # wE W wd W g

(@) *ad 1

(b) e 2

(c) 1 323N

(@ F@1dad2
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27. ¥Rd ¥ IDV-I@ (writ of certiorari) S

FA & fou Frafafes § @ #R-@ wd/od
Hfard 2/87

1. Y@ st @1 @ it B =
fores om weeEl % R 1 v
FA 9 gE H FuRe w9 w5 e
yIitERR &1 R =l ¥ @ 1 w3 w
Fd4 8|

2. W AfEmor 1 s X st F
o & form 21

= fog g 2 1 wEm w wd I g
(@ Had 1

(b) = 2

() 1 3R 23

(d I@1AAE2

28. ¥ ¥ WRd ¥ fhe g& =gl 3 ‘amifie

i’ W ¥ fae = % e @ @
rew T an?

(@) =T Too Telo &Y
(b) = Fo Sfto AAFOR
(c) =THfd ARo THo wu
(d) =T aTe Ho WIIETE

29. ¥ ¥ §=< a7 JEIH H A@H HH 7

(@) TH farrl 9™

(b) SR HTEEH

(c) 3O IEE e
(d) Y HIRTE




24. The computation of poverty in terms
of Monthly Per Capita Consumption
Expenditure (MPCE) based on the Mixed
Reference Period was recommended
by the
(a) Lakdawala Committee
(b) Tendulkar Committee
(c) Dandekar Committee

(d) Alagh Committee

25. Which of the following is/are the sub-
mission/sub-missions of the National
Skill Development Mission (NSDM)?

1. Institutional training
2. Overseas employment
3. ' Leveraging of public infrastructure

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
{¢) 1,2 and 3

(d) 2 and 3 only

26. Which of the following strategies is/are
adopted for implementing the POSHAN
Abhiyaan?

1. Inter-sectoral convergence for
better service delivery

2. Use of technology (ICT) for real-time
growth monitoring of women and
children

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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27. Which of the following conditions is/are

28.

necessary for the issue of a writ of
certiorari in India?

1. There should be a tribunal or an
officer having legal authority to
determine  questions  affecting
rights of subjects and having a duty
to act judicially.

2. Such tribunal or officer has acted
without jurisdiction.

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Who among the following Chief Justices
of India ordered the constitution of
a Special Bench called ‘Social Justice
Bench’ ?

(a) Justice H. L. Dattu
(b) Justice K. G. Balakrishnan
(c) Justice R. M. Lodha

(d) Justice Y. K. Sabharwal

29. Who among the following is the author

of the book, Bandi Jivan ?
(a) Rash Behari Bose

(b) Veer Savarkar

(c) Aruna Asaf Ali

(d) Sachindranath Sanyal

[ P.T.O.




30. 1937 # § FE #H, ¥WRdA UHA FAE 33. T R fasmam TR F owem q-wm #

frafafaa & @ $9-8 D w6l § wHa g=@ Frferfaa & & #=- @ afeat sed 27
¢t Ul (single largest party) % &9 # et
| T 38 i @) AR
(@) d=mE AR fay iy a
3R AfEm
(b) ¥r|w iR ufEm @ v S .
i (d) FEM G
(c) UsTa 3R 7EH
(d) ¥rEm S qEE 34. frffas # A A PrEW WEM (dual
control structure) aTel THAE AHafF T
31. Pt et w e B - ¥
AR e B 1 e T ¥ 9% gAN T3 fay WEDS .
a4 3 (b) 3 THed
1. S %9 F ® R R ge sfd J @ (c) wra-foreaa g gferm
=g wE § afew i wdil A
2 o BT F AW A T A gE il
ang .

35. fr=fafaa # & 3w 1 J9diE 9@ (ethnic
mﬁ—'ﬁ Ford 4 ﬁq—w/ﬁq-ﬁ " %/%? community) FH-91 87 :
(a) a4 1 (@ e
(b) Fa 2 (b) it
¢ 1 32 3E () ¥Em
(d Fd@1RAE2 (@

32. it % fafim w9 1 <ol o Fefafea 36. Ffifaa # A fra 30 A fedee dm 1 W
7wl | F FH-T W G gafera T 27 A4 (Chevrons) 27
(@ WP : $EE WIHR T H TR (@) TR
() T dwF R w9 # s (b) 3 feieE
(c) EER : wifeh i IuwET § e (c) TN
(d TR i i e § swen (@) T
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30. In the election held in 1937, in which
two provinces was the Indian National
Congress not able to emerge as the
single largest party?

(a) Punjab and Sind
(b) Assam and North-West Frontier
Province

(¢) Punjab and Assam
(d) Assam and Madras

31. Consider the following statements :

After forming the Indian National Army,
Subhas Chandra Bose

1. recruited a large number of soldiers
from the Indian Prisoners of War
in Japanese camp

2. introduced a women’s detachment
named after the Rani of Jhansi

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(g Both 1 and 2
(d) Neither 1 nor 2

32. Which one of the following pairs denoting
various forms of ‘Bhakti’ is not correctly
matched?

(a) Saguna : Belief in Gods with
attributes

(b) Nirguna : Belief in Gods without

attributes

(c) Alvars : Believed in devotion of
Shakti

(d) Nayanars : Believed in devotion of
Shiva
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Which two rivers flow in the region
between Gulbarga and Vijayanagara
Hampi?

(a) Narmada and Godavari
(b) Mahanadi and Godavari
(c) Kaveri and Periyar

(d) Krishna and Tungabhadra

34. Which of the following is the only

paramilitary force with a dual control
structure?

(a) Central Reserve Police Force
(b) Assam Rifles
(¢) Indo-Tibetan Border Police

(d) Central Industrial Security Force

35. Which one of the following is an ethnic

community of Assam?
(a) Bhil

(b) Gond

(¢) Ahom

(d) Adi

36. The Chevrons is the name of the cricket

team of which one of the following
countries?

(a) Australia
(b) The Netherlands
(c) Ireland

(d) Zimbabwe

[P.T.0.




37. mﬁﬁm%mﬂqiﬁ?ﬁaﬁw%ﬁmﬁ@ﬁﬁ

¥ fore i s # S mn?
(@) ST A A

(b) FTARE TET TP IAH

(c) FagA AW TEA I
(@) TN TEA T

38. T ¥ #H, 94 2022 ¥ WF fgm § 9w

YEER 1 W] A8t 87
(@) T TR

(b) W9 Tho FATS
(c) FAH EHALA

(@) w i

39. g 3R 38 gfrm & forw wie & wied T

(reflex arc) foshfa & 1 Pr=faRea § @

FH-IT A, wﬁaﬁmaﬁmmﬁ

Frefia =tan 27

(@) T — Feadt =R — ey & Rt =R
— e — W& A — HR

(b) T — Faf A — wfess — Fwg
A et =R — W = — FER

() T — Wb FH — Ay H RS =R
— Fadf R — FER

(d) TE — WF P — A — F3d
T — FHR

40. 9RUfRE s ¥} uEEE U ¥ fg

Frafafga # @ ¥F-a1 s1faErd 27
(a) NaCl

() KCl

(c) HIAETA

(d) IEEH
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14

42. 99 1T, Iaast  RAvsas

41, STt FfEmel § RNA & femm e 27

(@) Faa FIREHEH
(b) FaE b5 IR FREHEA

(c) ¥=%, FIREEA, GHOEH, sRaca®
3R Sfagedt wiferan

(d) ¥3%, FIREEA, GEHvEH, sRacas
3R TFEEm

(intercalary

meristem) HHIIG: Fel W @@ g 27
(@ &M@

(b) W F T4

(c) T

(d) TB-3T

43. N4l § 5 & SEgEl 9o F I Smeem

YHR 1 Gty Sak dar 7 Fefafea § @
FH-H TRAH S SNfad FIREST ¥ T
BraT 87

(a) aTEFH (Tracheid)

(b) e (Vessel)

(c) IEEH Ygas (Xylem parenchyma)

(d) SIEE™ B (Xylem fibre)



37. Cheetahs, brought from Namibia, were
introduced in India to which one of
the following National Parks?

(a) Kaziranga National Park

(b) Keoladeo Ghana National Park
(¢c) Keibul Lamjao National Park
(d) Kuno National Park

38. Who among the following is not a
recipient of the Nobel Prize in Physics
in 2022?

(a) Alain Aspect
(b) John F. Clauser
(c) Klaus Hasselmann

(d) Anton Zeilinger

39. Reflex arcs are evolved in animals for
quick and efficient responses. Which
one of the following sequences correctly
represents a reflex arc?

(a) Receptor—Sensory neuron—Relay
neuron in spinal cord—Brain—
Motor neuron—Effector

(b) Receptor—Sensory neuron—Brain
—Relay neuron in spinal cord
—Motor neuron—Effector

(c) Receptor—Motor neuron—Relay
neuron in spinal cord—Sensory
neuron—Effector

(d) Receptor—Mdtor neuron—Brain
—Sensory neuron—Effector

40. Which one of the following is essential
for thyroid gland to make thyroxin?

(a) NaCl

(b) KCl

{c) Cholesterol
(d) lodine
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In plant cells, RNA is present in

(a) cytoplasm only

(b) nuclei and cytoplasm only

(c) nuclei, cytoplasm, mitochondria,
chloroplast and  endoplasmic
reticulum

(d) nuclei, cytoplasm, mitochondria,
chloroplast and ribosomes

42. In grasses, intercalary meristem is

usually located at

(a) root tip

(b) lateral sides of stem

(c) base of leaves

(d) shoot tip

43. Xylem is a type of complex tissue in

plants for upward conduction of water.
Which one of the following xylem tissues
consists of living cells?

(a) Tracheid
(b) Vessel
(c) Xylem parenchyma

(d) Xylem fibre

[ P.T.O.




44. 11 Q 22 Q 3R 33 Q ¥y I &=
yftas wd F9fE §1 R ged ghRy
fore aer 87

(@ 66 Q
(b) 22 Q
© 12Q
[d 6Q

45. wRd = fga-amfd # @@ fagem ar
(red live wire) 3R HT IFHH R (black
neutral wire) % d9 rm.s. fvEm
(potential difference) fae1 gram 87

(@ 160 V
(b) 220V
(¢ 300V
(d) 410V

46. TgeeA a9 R gifEw W wE: R W
anuTia 8 87

(@) T demm iR frds
(b) Ta@e v aiyda dem
(c) Wﬁ@m:ﬂhw
(d) ST Heraa iR fagea

47. i 3R e @
(@) g HHY: e AR gy B &
(b) T H ;S o sgeed B @
(c) g # 3H 1geed At B
(d) a9 ¥ I I Bt &
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48. 12 m/s §I 91 ¥ 7fd W W & L F IF
T R IGH =96l § 6 m/s? 1 HEA B B
W AT F A8 FR T4 & fo1C 2 s F 999
AM B 9% T F 9 FR g 7@ h W gh
Toraet &7
(@ 12 m
(b) 24 m
(c) 36 m
(d 48 m

49. WEI-IT THR F APWHE F TEEES
oA 1 87

(a) Wfemm TRESH FEH R GRS

A F1 9

(b) Wfeam FEHe iR TR I F
CIG|

(c) 7 TRATFEES IR TeERF A H
e

(d) ufemm FRge 3R orRE A @l
Hd

50. Fafafiga suat w fimm Hifvw .

wifsa TEfew 3 F O1d F TFA B G0

1. [H,0"] 3H! % HIEW/HE (volume) #
e ot ®

2. wifxa e & sia dR-dR fremn =nfey

3. v # 3 fit-ofRt fyemrn =nfe

I § W PH-TI/FH-H FF TE R/R7

(@ 1,233

(b) Faa 1 3R 2

(c) *ad 3

(d) Faa 2 IR 3




44. Three resistors of resistances 11 Q, 22 Q
and 33 Q are connected in parallel.
Their equivalent resistance is equal to

(@ 66 Q
(b) 22 Q
© 12 Q

[d 6Q

45. The r.m.s. potential difference between
the red live wire and black neutral wire
in Indian domestic electric supply is

(@ 160 V
(b) 220V
(¢) 300V

(d) 410V

46. The hydrogen bomb and the uranium
bomb are based, respectively on

(a) nuclear fusion and fission
(b) fission and thermonuclear fusion
(c) geothermal fission and fusion

(d) geothermal fusion and fission

47. Sound and light waves are

(a) respectively longitudinal and

transverse in air

(b) respectively transverse and

longitudinal in air
(c) both longitudinal in air

(d) both transverse in air
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48. A car moving with a speed of 12 m/s
is subjected to brakes which produces
a deceleration of 6 m/ s2. The car takes
2s to stop after the application of
brakes. What is the distance covered
by the car after the application of
brakes?

(a) 12 m
(b) 24 m
() 36 m
({d 48 m
49, What is the chemical composition of
a soda-acid type fire extinguisher?

(a) Solution of sodium hydrogen
carbonate and sulfuric acid

(b) - Solution of sodium carbonate and
sulfuric acid

(c) Solution of carbon dioxide and
sulfuric acid
(d) Solution of sodium chloride and

sulfuric acid

50. Consider the following statements :

While diluting concentrated nitric acid
solution

1. the concentration of [H;0"] ions/
volume increases

2. water must be added slowly to
concentrated acid

3. acid must be added slowly to water

Which of the ‘statements given above
is/are correct?

(@ 1, 2 and 3
(b) 1 ahd 2 only
(c) 3 only.

(d) 2 and 3 only

[ P.T.O.




51. fou 7 weret ¥ for pH +1 v wn F=falaa 54. Fe,0, #i Yghifam & ww sfufes & fou

33 F-an &7 Frferfia 3 @ PH-3 S0 wh &7
(@) Fh < Fig &1 @ < fires a1ie Mt < 1. %8 ‘gwige aifufwan’ & &9 & 3 ?)
e 2. IEE FO F WM AR F g
b) e Hiw MR < T < TR < A fepan s &1
ke 3. gffm uig stfedieor wd% ¥ w9 §
H el B
(c) Fg W < T < Fh < fies 3% . e
: T4 81
(d) Hq F W < Fh < T < e AT
Brfifdrn = fow e g2 1 W R wd@ W g
(@ 132
52. W giEn & fou frefafaa & @ $9-m
ol 7 27 S EI
(@) I= Ygfafm it dame g = R)
(c) 23R4
(b) UffrEm, oRfem o iefftem S
urgsil # WHidiga e g 21 B
(c @@= Tgiifem w@d e § ek
FiRdieH T FUe T I Bt 2

55. el 3 s fim = & du (Stewart
Island), 9 3% W&l (Bay of Plenty) 3R
B 9 (Hawke Bay) % W01 % SR #§ &am

(d) ¥® IFAH I WG Bl B

53. T fla FeEfl SN (yellow  sooty ot 3 w391 &1 o1 fop?
flame) % A1Y Serdl 8| THH FRO &
(@) T ¥ TESISH 1 G FH Bl & it
(b) S 3EA B B (b) FrEfern
(c) mgﬁawaﬁman{ﬁﬁ?ﬁ? o
(d) TR AR TR H yE@ faewm
e 2 (d) TS
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51. Which one of the following is the correct
order of pH for the given substances?

(a) Coffee < Lemon juice < Milk of
magnesia < Blood

(b) Milk of magnesia < Blood < Coffee
< Lemon juice

(c) Lemon juice < Blood < Coffee < Milk
of magnesia

(d) Lemon juice < Coffee < Blood < Milk
of magnesia

52. Which one of the following is not true
for anodizing process?

(a) It makes aluminium corrosion
resistant.

(b) Metals like aluminium, titanium
and magnesium can be anodized.

(¢) Clean aluminium article is the
anode and oxygen gas is evolved at

‘the cathode.

(d) 1t is used in aircraft industry.

53. Naphthalene burns with a yellow sooty
flame. This is because

fa) carbon to hydrogen ratio is low
(b) there is incomplete combustion

(c) there is excess supply of air

(d) of presence of impurities of

nitrogen and sulfur
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54. Which of the following statements are
true for the reaction of Fe,O; with
aluminium?

1. It is known as the ‘thermite
reaction’.

2. The heat evolved is used for
welding purpose.

3. Aluminium metal acts as an
oxidizing agent.

4., Molten Fe and Al are formed at the
end of the reaction.

Select the correct answer using the code
given below.

(@) 1 and 2
(b)) 1 and 3
(c) 2 and 4

(d) 1 and 4

55. Vicky told his friends about his visit
to Stewart Island, Bay of Plenty and
Hawke Bay. Which country did Vicky
visit?

(a) Canada
(b) Australia
(c) New Zealand

(d) Ireland

[P.T.O.




56. WA fagt # wsft gaent fau foma welt @1 59. -1 # FH-1I ¥ Wy gafaa Hifse v

T A B AT S @R | qR WHO HW gt % R Ry 7 g2 F1 @ W @ W
R
(@) wTa e, Fga FFR, s 5fer
-1 - gEen
(b) <T@ Fen, e T2, FgE WA () ()
A. faa smiyf g 1. 29 Jam
()T TG S0 MR, T T B. sfauid am feam 2. 22 3
(@) e fen, g e, e e C. fau 5«1 feem 3. 2 w@El
- D. ¥@igm g gedft fegw 4. 22 W
%

57. e 1 ufdm | qd il 3R 5w @, @ Am T
% d2 T feora wiedi 1 Wl 9 0w { - A S - Rl e

(@) TEPRIS, FHR, HFTAG, T & K-8 hel

(b) TATHTS, <hHYY, 9T, AL

- X B ¢ D
g 18 s
(c) MG, TAFRIS, HATEAYH, G
Mk "B ¢ D
3

(d) FEGR, TAFRS, G21, TG 2 4 1

60. fhan wae™ gw a¥ 20202021 ¥ fau

58. f=faflaa & @ fFe v =1 Im—<fim e & v wed v gEwiE (PG #,
it fawr 27 fFrfafaa & @ fre =g /99 T9-99 =1 @A
: i ot % wfirer = 27
(a) FRES
| (@)
() (b) U=
(c) 3nfem (c) TER Tsur & g
(d) sHETG (d) <G
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56. Manav is planning to visit all UNESCO
World Heritage Sites in Delhi. He will be
visiting

a) Red Fort, Qutab Minar, Jama
Masjid
(b) Red Fort, India Gate, Qutab Minar

(c) Red Fort, Qutab Minar, Humayun
Tomb

(d) Red Fort, Humayun Tomb, India
Gate

57. What will be the correct sequence of
cities on the bank of river Ganga if
someone moves from west to east?

(a) Prayagraj, Kanpur, Bhagalpur,
Patna

(b) Prayagraj,
Bhagalpur

Kanpur, Patna,
(c) Kanpur, Prayagraj, Bhagalpur,
Patna

(d) Kanpur,
Bhagalpur

Prayagraj, Patna,

58. Which one among the following States
has the longest extension in north-
south direction?

(a) Jharkhand
(b) Telangana
(c) Odisha

(d) Chhattisgarh

. JNBY-D-GNL/59A

59, Match List-1 with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Day) (Date)
A. World Wetlands Day 1. 29 July
B. International Tiger Day 2. 22 April
C. World Water Day 3. 2 February
D. International Mother 4. 22 March
Earth Day
Code :
(@) A B 2 D
3 4 1 2
(b) A B C D
3 1 - 2
(c A B C D
2 1 4 3
(d)

N >
> W
-0
w g

60. Which one of the following States/UTs
is not among the top five in the
Performance Grading Index (PGI),
published by the Ministry of Education
for the year 2020-20217

(a) Kerala
(b) Punjab
(c) NCT of Delhi

(d) Chandigarh

[ P.T.O.




61. Pt ot w Rem BT sk SRR B 63. freferfan # & H-a1/A-2 wom wd 2/37

YEEHT 1. Tasfa ot g e o g g
(Tomb of Sand) FAIEA o YR
3 firg fen sifimsf, fdwe s fafar & aor SfieR areft qe &9 | frel sl s
FUA YRAT AT FAET E1 1992 F 3F ferelt 75 et g R
vt JEER Yl BT T ok @ 1998 @ 2. o E de, R A sERa wwen
A T 2001 TF IE FHT frew yEOA I ® R S g R weH
S F ey % Y F F1F A1) wndig R e )
A 3% gHNT efiad Fer # @ go
3% il arer aea wd gEER @ gEnha T o TR e i R W 3w g
s | (@) = 1
(b) Fad 2
(a) ASEAHTE (c) 1 3R 22
(d ad1dRaTd2
(b) €T EHH
64. T®E Wit JWW H @Al T, S H
fusm  &9-3-8%=2  s=m  (bilateral
() wren et military-to-military exercise) 8, 31l g/
3 9ra iR F=fafaq § & fra 2w % fsy
(d) T yRE Tl & s foran e
(@) A
(b) ZEMfEE
(c) ¥2H
"62. UN 2023 9a@ §leH #H (EH-ww (d) =R

(venue) fFr=fafaa # @ -1 27
65. aEhifa T & fore W g Prafafaa § @
Tore 3 1 v foman s gear 27

a1firred, o o
o () &, i 3nfe W AT =49 s
(b) Tfa @ s T (subsidy) Yem
(b) I T
(o) a9a ¥ wEl W W e ® § gl
(c) ¥ few FE
(d) rfEa T@ fify sguE (CRR) # &t
(@ %R FH
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61. Consider the following statements and
identify the actress :

She is a renowned film actress, director
and producer, and an accomplished
Indian classical dancer. She was
conferred the Padma Shri in 1992 and
has served as the Head of Central Board
for Film Certification from 1998 to 2001.
In recognition to her exemplary lifetime
contribution to Indian Cinema, she
was honoured with the prestigious
Dadasaheb Phalke Award.

(a) Vyjayanthimala
(b) Waheeda Rehman
(c) Mala Sinha

(d) Asha Parekh

62. Which one of the following is the venue
of the UN 2023 Water Conference?

(a) Washington, DC
(b) New York
{c) San Diego

(d) New Delhi
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63. Which of the following statements is/are

correct?

1. Tomb of Sand, written by Geetanjali
Shree, is the first book originally
written in any Indian language to
win the International Booker Prize.

2. Tomb of Sand is the first novel
translated from Hindi to be given
the International Booker Prize.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

64. The eighth edition of the Exercise Garuda

Shakti, a bilateral military-to-military
exercise, was conducted recently
between the special forces of India and

(a) Japan
(b) Indonesia
(c) Bhutan

(d) Myanmar

65. Which one of the following is a measure

that can be used by the Government
for combatting inflation?

(a) Increasing the non-planned
expenditure on defence, police, etc.

(b) Providing more subsidies on
exports

(c) Increasing the rate of interest on
savings and fixed deposits

(d) Reduction in the cash reserve
ratio (CRR)

[ P.T.O.




66. WM HHd w1 § Hivw fiRee #1791 Fed §7
(@) FEERITA (Deflation)
(b) HETEhiIfasIa "l (Stagflation)
(c) ¥EHFAA (Devaluation)

(d) W& (Recession)

67. WA wE-IWTH WA gEFH® (MP) H
TrfoRaa § @ F1-w1 %as affifea &7

(a) it e & ad
(b) WA X
(c) g Hfean

(@) wfa=afe s

68. WrRNfiehY sreran fadiy 3wt Y win & ufedAl &
HRYT B FTell SASITE ) = Fed 87

(@) IR ST
(b) TTEATHS SR
(c) TEHF AT

(d) =57 AT
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69. F=faflaa ¥ & $F-w/FR-3, yumdEh @rea

& ASHT (PMSSY) F1/% 329 B/%7

1. s @ed @re darst ) Iuctedn
7 &t SEgeH! # g :

2, % Wre Faedl i g e
% fore wrdsim g wem &

3. W A EEg e fa %
gfamsi # gtz Fe

= fow e g2 1 wEm W wd s g
(@ Faa 133

(b) Fad 2 3R 3

(c) Fad 1

(d 1,23M3

70. 38 ¥ fFg woEifes Ja@ A wofoE @ed F

w1 § 9y T S0 B 9 w9 o a
s TH g $9 WA 1 g fomm et

(@) TFANTE 92

(b) Tio Ffio ARo IFETH

() THo FHo Tieh

(d) SETEETE JEE



66. The sustained decrease in the general
price level is called as

(a) deflation
(b) stagflation
(c) devaluation

(d) recession

67. Which one of the following indicators
is included in the National
Multidimensional Poverty Index (MPI)?

(a) Years of schooling
(b) Literacy rate
(c) Life expectancy
(d) Per capita income
68. The unemployment that occurs due to

changes in the technology or in the
demand for particular products is called

(a) frictional unemployment
(b) structural unemployment
(c) cyclical unemployment

(d) disguised unemployment

JNBY-D-GNL/59A

69. Which of the following is/are the
objective /objectives of the Pradhan
Mantri Swasthya Suraksha Yojana
(PMSSY)?

1. Correcting regional imbalances in

the availability of tertiary health
care services

2. Providing ‘universal access to
public  health  services and
universal immunization

3. Augmenting facilities for quality
' medical education in the country

Select the correct answer using the code
given below.

(@) 1 and 3 only
(b) 2 and 3 only
(c) 1 only

d 1,2 and 3

70. Who among the following political leaders
suggested the dissolution of the Indian
National Congress as a political
organization and its replacement by a
Lok Sevak Sangh?

(a) Vallabhbhai Patel
(b) Dr. B. R. Ambedkar
() M. K. Gandhi

(d) Jawaharlal Nehru

[P-T0;




71.

72.

WRd, Wge g wife fem § sRen gwd
(all-woman contingent) &t 89Tl FW F1e
fog & ween 3w B =@ finm few 2w A
gftanfera fam man?

(a) wTgafeE

(b) HsH

(c) T

(d) rReEn

Fefafaa # @ $9-11, SWAYAM #E9 &1
e =i 27

(a) dfen @™

(b) e AN

@ W&l F FA & fou semsa it
BRY

(d) e w9 A &R © I B
RS /M fora s wear @

73. frfifas 3 & Fm-m fovm/mfor 7

T % e T 27

(@) ST fawm

(b) T favm

(c) TEE it Tl BRER anehar
-{d} ], IR AR werE v
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74. Tr=fafaa § @ 62 sy ¥ dfRum H oisd

G ¥ afin W R o F sl
FAEHR qRug il w9 =9 F iR
wer TR R, wul smaf wwenfat §
Torrg Tgafea o w8 &7

(@) GEE TST 1 TSAUTA
(b) WRA F1 UPHFS
(c) FR-TT UREg

(d) ¥Ra § qug

75. I wiaR dheg §, PefiRe § @ B

T4 /499 T3-457 gitfera &7

(@) ITIEE, I Fow, TRAN, GemE, g
3R FeiR

(b) M, gSE, fewee wew, Uswym U
g TeyE 8 R

() IW We¥l, IWEe, UvE, TRAOT TH
TRAH

(d) IWES, IN Wv, feureet ww, voe
g i

76. T WEH W ufwfa dga ' gwron

(notion of kinship) F=faflas § @ s
HIETH | G 9 § YHIOE 27

(@) @A A I AR (identification)
(b) uTHF G B SgEE
c fFemds s

panegyrics)

(d) Tt v gqfifeen (sculpture)

(inscriptional



71. India is the first country in the world
to deploy an all-woman contingent to
a UN Peacekeeping Mission. In which
country did this mission operate?
(a) Liberia
(b) Sudan

(c) Burundi

(d) Croatia

72. Which one among the following is not
a part of the SWAYAM programme?

(a) Video lectures
(b) Classroom lectures

(c) Online discussion forum for
clearing doubts

(d) Specially prepared material that
can be downloaded/printed

73. Which one among the following
Departments/Authorities is not under
the Ministry of Home Affairs?

(a) The Department of States

() The Department of Official
Language

(¢) The National Authority Chemical
Weapons Convention

(d) The Department of Jammu,
Kashmir and Ladakh Affairs
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74. Who among the following is given

discretionary powers under the Fifth
Schedule of the Constitution of India
to set up a Tribes Advisory Council in
a State which has Scheduled Tribes but
not Scheduled Areas? i

(a) The Governor of the concerned
State

(b) The President of India
(c) The Inter-State Council

(d) The Parliament of India

75. Which of the following States/UTs are

included in the Northern Zonal Council?

(a) Uttarakhand, Uttar Pradesh,
Haryana, Punjab, Jammu and
Kashmir

(b) Haryana, Punjab, Himachal
Pradesh, Rajasthan and NCT of
Delhi

(c) Uttar Pradesh, Uttarakhand,
Punjab, Haryana and Rajasthan

(d) Uttarakhand, Uttar Pradesh,
Himachal Pradesh, Punjab and
Haryana

76. The notion of kinship projected by

the Kushana rulers is best evidenced
through which of the following?

(a) Their identification with deities
(b) Grants to religious institutions
(c) Inscriptional panegyrics

(d) Coins and sculpture

[P.T.O.




77. WA 9Ra § Frefafaa 3 @ g 9 Fwu

ST ST 91¢

(@) #&3 wigand

(b) g # afts et (elder nuns)
(c) Taeght 98 (status) ¥ dfva afgemd
(d) g ¥a | Frenfya afeand

78. Tagw A% e wegdt * fhm wew 3 1914

# gemerae § ¥ wfifa A o i o
(@) it TW TRt
(b) TEETE FE
(c) THo Sfto ITH
(d) Hfam s

79. WUH HATA-AUS1 g4 H @i frefafaa § |

e gra & 8 A7
(@) T Y
(b) TR HY

(c) aeia  wHE
Wadgaon)

(d) drereTs |iY

(Convention  of

80. 3W WK (battle) F1 AT FARY, EH FATGUHR

F T A 1741 9 9 1 Wra foan o)
(@) W A H eeE

(b) HaEd H TS

(c) TR < T

(d) SFEA (Changanassery) F 8T
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81. f=feifgd & @ fow fakie & s 3ik =i

SSa % gRad I UH FEEER ufER &
W 3Afafd (overlord) % faeg smmaa i?

(@ ¥ T48® (Rampa Rebellion),
1879-1880

(b) TeW faE® (Gudem Uprising), 1886

(0 @ fag® (Rampa Rebellion),
1922-1924

(d) AT WIS §9Y (Telangana Armed
Struggle), 1946-1951

82. f%® 2w 3 FIFA f99 #9 (To9) 9a@ i1fys R

Sfrar 87
(@) I
(b) TS
(c) i
(d =

83. T ¥ IH wg IJW, R win W

(City of Joy) F1 & 87

(a) o Fife™ (Larry Collins)

(b) i AR (Dominique Lapierre)
(c) %earé fFufem (Rudyard Kipling)

(d) W% eft (Mark Tully)

84. T ¥ frE P gREm Ao

(Entrepreneurial Vision category) ¥
Y Y TR HRHA F a9 2022 AfEd
#H% 3 HY YEHR (Champions of the
Earth Award) ¥ v ifva foran man &7

(@) T HE

(b) FfHd STEH

() it ¥

(d) ST TER




77. Who among the following were referred
to as the Theris’ in ancient India?

(a) Respected women
(b) Elder nuns in Buddhism

(c) Women denied the Bhikkhuni

status

(d) Women expelled from the Buddhist
Sangha

78. Which member of the Servants of India
Society founded the Seva Samiti at
Allahabad in 1914?

(a) Shri Ram Bajpai
(b) Hriday Nath Kunzru
(c) S. G. Vaze

(d) Srinivas Shastri

79. The First Anglo-Maratha War was
concluded by which one of © the
following?

(a) The Treaty of Surat -
(b) The Treaty of Purandar
(c) The Convention of Wadgaon

(d) The Treaty of Salbai

80. Name the battle in which the Travancore
King defeated the Dutch in 1741.

(a) The Battle of Porto Novo
(b) The Battle of Colachel
{c) The Battle of Pollilore

(d) The Battle of Changanassery
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81. In which one of the following revolts

did the Koya and Konda tribal chiefs
rise against the local overlord from
a Mansabdar family?

(a) The Rampa Rebellion, 1879-1880
(b) The Gudem Uprising, 1886
(c) The Rampa Rebellion, 1922-1924

(d) The Telangana Armed Struggle,
1946-1951

82. Which country won the FIFA World Cup

(Men) for maximum number of times?
(a) Argentina

(b) Brazil

(c) France

(d) Spain

83. Who among the following is the author of

the famous novel, City of Joy ?
(a) Larry Collins

(b) Dominique Lapierre

(c) Rudyard Kipling

(d) Mark Tully

84. Who among the following is honoured

with the UN Environment Programme’s
2022 Champions of the Earth Award in
the Entrepreneurial Vision category?

(a) Ela Bhatt
(b) Amit Dasgupta
(¢) Purnima Devi Barman

(d) Vanshika Parmar

[ P.T.O.




85. WRd &I G20 HwAFW H faw-wxg Tgha
FgEE] A TH YE-UE FE-um A’
F8l 9 ot T 27

(a) FETFTT
(b) HET-39fATg
(c) Fa

(@) =

86. A F& IR IFwAR-UH  AGEE H
- RA-A9Te aTfies Eh R0 T H 1691
e fager, 2022 # Jura i ded W
(Nepal Army Battle School), H@@s!l #
s foFn T an) 9 e # AW d

27
(a) afifa
(b) o ek

fc) T& ™

(d) g T

87. 3fe Wfe= mer w99 (GMT) ¥ 10:00 a.m. 2,
Al 90° E 39’ T 41 GHT MY

(a) 5:00 a.m.
() 4:00 a.m. .
(c) 3:00 p.m.

(d) 4:00 p.m.
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88. fr=fafiaa # ¥ fF Te-wg &1 ‘W 1 (gas
planets)’ F& Wl 8, ¥ifH I FeIa: goht
%, 5o i i & . #7

(a) W, e, I,
(b) FERf, T, T,
(c) I, HTet, awfd, A=
(@) A==, T, H, R

89. frefi ga1 & war i Freferfaa fadmarsdi =
ﬁﬁf{?ﬁﬁm:

1. A e a1, M AR g & f=-fim
Il & =0 #)

2. ¢ el ® URm, wiehiE e 3R
A1 94T A A 2

3. ¥ WIS B I AY F AUR W AW
iR Fffera foran s e 21

@ 1 favmaistt % MUR W WA F YRR
TEEIAY

(@) TG (Alluvial)
(b) T (Laterite)
(c) %k (Arid)

(d) Fel (Black)




85. The theme of India’s G20 Presidency
Vasudhaiva Kutumbakam’ or ‘One
Earth-One Family-One Future’ is drawn
from the

(a) Maha Purana
(b) Maha Upanishad
(c) Rig Veda
(d) Smniti

86. The 16th edition of Indo-Nepal annual
joint training exercise in jungle warfare
and counterterrorism operations was
held in December 2022 at Nepal Army

Battle School, Saljhandi. What is the
name of this exercise?

(a) Sampriti
(b) Mitra Shakti
(c) Yudh Abhyas
(d) Surya Kiran
87. If it is 10:00 a.m. at Greenwich Mean

Time (GMT), then what will be the time
at 90° E longitude?

fa) 5:00 a.m.
(b) 4:00 a.m.
(c) 3:00 p.m.

(d) 4:00 p.m.

JNBY-D-GNL/59A

31

88. Which of the following groups of planets

is termed as ‘gas planets’ as they are
composed primarily of lighter ices,
liquids and gases?

(a) Mars, Jupiter, Neptune, Uranus

(b) Jupiter, Uranus, Neptune, Saturn

(c) Saturn, Mars, Jupiter, Neptune

(d) Neptune, Saturn, Mars, Uranus

89. Consider the following characteristics of

a soil type :

1. These soils consist of various
proportions of sand, silt and clay.

2. These soils contain adequate
proportions of potash, phosphoric
acid and lime.

3. These soils can be further classified
on the basis of their age.

Identify the type of soil on the basis of
the given characteristics.

(a) Alluvial

(b) Laterite

(c) Arid

(d) Black

[ P.T.O.
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90. F=fafad HoFl W famm Hifvw ik 7 e

F2Z F TN H T IW A

1. T am feE &= 4 99, FEa @
THaE T OSE W I9Em AR
I % fore foman sman 21

2. UH T FH R W 9N § e F o
$H H Ted TP S R, S e @
B oA &, @ 79 (spins) 3R
qu{tums)ﬁmg,ﬁmﬁgﬁﬁlw
Bt 2

(@) F94 1 98 2 fhg Fum 2 w9 78 ?
(b) H9A 2 TEl ¢ g Fua 1 |l 7 B

(c) T FUA G & AR FA 2, FUA 1 H
HTE] Al B

(d) A FoF wE § g U 2, I 1R
T T8 Wl B

91. Ty 7 I =1 forear el o= 7

(@) wErE, s9 iR FwiR, femea W,
LG

(b) Er@, S 3R FEHR, 97E, wRAOn

(c) wEr@, s IR FHR, YemE, wRamn,
TSRH

(d) wer@, s iR weiR, feee W,
e, BRI, TSR
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92. YA & WEHAINHdl (SGI) & Hay H

P 7 2 -2 T 7 T 27

(a) SGI, ¥&R % g&g fafY gemesr g
?1

(b) SGI, 3w F fidas faft il @
2

(c) SGI F1 98 T Hifgaas vz B

(@) wutvew 6 Fgfe wfifa gm sl =
fagen o s 21

93. fi=fafiga # @ form afufy § T=9 w1 @ we=

& 2d 27

(@) < o afafd

(b) aET Iusw-ged wfifa
(c) vEeH |fufa

(d) ¥FgfEa sfedl 3R iggfEa sHsfedl %

94. WA ¥ Tgdfa & Fate F gaw # f=fafaa #

Y FH-T1 FI FE TE 87

(@) +§ Fa o, mpufe FeEifa @ =
u & &)

(b) TEafa F1 Fafe dwe v T @ @n
Tsa-ga i faum-wwet % feifaa
wewdt g TR wman R)

(c) Tafes o ¥ furh ofmg F Feifa
we Wik TE B 1

(d) THA THAME HA  FRT AU
wfafftra gafa 1 arem e st R




90. Consider the following statements and
‘identify the correct answer using the
code given below :

1. In a thermal power station, fuels
such as oil, coal or natural gas are
used to generate electricity.

2. Fuels are burned to heat water and

“turn it into steam, which goes

through a turbine, which spins and
turns, generating electricity.

Code :

(a) Statement 1 is . correct but
statement 2 is not correct

(b) Statement 2 is correct but
statement 1 is not correct

(c) Both the statements are
correct and statement 2 explains
statement 1

(d) Both the statements are correct
but statement 2 does not explain
statement 1

91. Indus river basin is extended up to

(a) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab

(b)) Ladakh, Jammu and Kashmir,
Punjab, Haryana

() Ladakh, Jammu and Kashmir,
Punjab, Haryana, Rajasthan

(d) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab,
Haryana, Rajasthan
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92. Which one of the following statements
about the Solicitor General of India
(SGI) is not correct?

(a)

(b)

(c)

(@)

The SGI is the Government’s chief
legal advisor.

The SGI is the secondary law officer
of the country.

The ©post of the SGI is
a constitutional post.

The SGI is appointed by the
Appointments Committee of the
Cabinet.

93. Which one of the following committees
does not have members from the
Rajya Sabha?

(@)
(b)

(c)
(d)

The Public Accounts Co_mmittce

The Committee on Public
Undertakings

The Estimates Committee

The Committee on the Welfare of
Scheduled Castes and Scheduled
Tribes :

94. Which one of the following statements
about the election of the President of
India is not correct?

(@)

(b)

(c)

(d)

A Union Minister shall not be
eligible for election as the
President.

The President is elected by the
elected members of the Parliament
and the Legislative Assemblies of
States and Union Territories.

The Electoral College does not
include elected members of the
Legislative Councils.

The system of proportional
representation by means of single
transferable vote is followed.

[P.T.O.




95. A SAfufEm, 1955 fra aff@ =1 @1 9% 98. W4l 41 el wdEd CE ¥ U% TS 3 AW

a1’ Al % fufor & defta 27 gt & foa % foe =qafedm frg o drfia w3

(@ 26T, 1950 % TR 99 @ik Reea F wE w1 am
EGIELY

(b) 26 FE, 1949

(c) 15 T4, 1947 (a) TARRH (Ennayiram)

(d) 14 AT, 1947 (b) ITHE (Uttaramerur)

96. Hifd (NITY) 3w g fififa T =g-smnh (c) TmTEm (Siyyamangalam)
Tl gEwHE (MPI) % gER, R aREr
(household) Ft dfr M1 ST &, 4R (d) PGFEWETE (Kudumiyamalai)

1. 9YRER (household) % W& i ga& #
Yg9H e9-9Ifd (undernourished) %

&9 # 61 el 99. EREdl WA ¥ WRa F wed A, ‘Tww
2. 15 9§ 3 49 af ¥ g f 7y T (Dastak)’ 1 917
Tt wfeen wew &1 YR FomE guE
(body mass index) 185 kg/m? ¥ (a) TEER
9 R
13 o o 2 1 T R @ I R AN
(@) Had 1 (c) FTEA T
(b) Had 2

(d) FEI (textiles) W T
() 1 3R 23H

(@ AT 13RI 2 :
100. Frfafaa & & #F-w, gega: ‘T’ v @

97. TITHGN (Rayagajakesari)’ 3R Hag :
TRTSTHRE (Dayagajakesari)’ I Iqrierai
Trefaftaa & & frg ToEw @ dag oi? (a) <9 3I9IEA
s b) T&
(b) TR
pp— (c) ertERREt (officials) & UGIE]
(d) TgH (d) TS U
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95. The Citizenship Act, 1955 deals with the
determination of citizenship on or after

(a) 26th January, 1950

(b) 26th November, 1949
(c) 15th August, 1947
(d) 14th August, 1947

96. According to the National Multi-
dimensional Poverty Index (MPI)
constructed by the NITI Aayog,

a household is considered deprived if

1. a single member of the household
is identified as under-nourished

2. the body mass index of a woman
member, between 15 years
and 49 years of age, is below
185 kg/m?

Select the correct answer using the code
given below.

(@)
(b) 2 only
(c) Both 1 and 2

1 only

(d) Neither 1 nor 2

97. The titles of ‘Rayagajakesari’ and
‘Dayagajakesari’ were associated with

which one of the following dynasties? -

(a)
(b)
(c)
(d)

Kakatiya
Vijayanagara
Gajapati

Rashtrakuta
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98. Name the location of the musical

inscription containing groups of musical
notes arranged for the benefit of his
pupils by a king in the seventh or eighth
century CE.

(a) Ennayiram
(b) Uttaramerur
(c) Siyyamangalam
(cf) Kudumiyamalai
99. In the context of eighteenth century
India, what was ‘Dastak’?
(a) Signature
(b) Land document

(c) Trade permit

(d) Tax on textiles

100. Which one of the following was primarily
associated with Dadni’ system?

(a) Textile production
(b) Warfare
(c) Pajrment to officials

(d) Revenue collection

[P.T.O.




101. FAHEG WAl ©a % ar A7 Fefafad
FoA T fmm i

1. I8 oftm 78 % 92 | f&a )

2. HAMEG WY F AN vEed R ded
YAasE CE % &< % 8 | ¢

3. W W« | gue e it wfow feh
i

I0g § ¥ -V FUF wE &7
(@) Faa 1 3R 2
kb) Fad 2 3R 3
(c) Faa 133

(d 1,233

102. sE@gE! & sr #§ fefafea # @ FF-8 FF
wel &7

1. SO@g@ f ¥Ead  (strength)
sgramEl  faeRdl gEsE  (Volcanic
Explosive Index) & 191 STl 2

2. EgEee I frefidfo, saemgE fen
(volcanic activity) 3 ﬁﬁﬁ@ 9|

3. aregd fid 3uss, el iR 36 A
% au1 3 e F A S v 2

H faw e g2 F W@ W w6 IW IFT
(@) a1 32
(b) FHad 2 3R 3
(c) Faa 133

(d 1,233
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103. 79 ¥ UF YFR # FEfafagd fevaed w

ﬁﬁﬂiﬁﬁ‘lﬁ:
1. aﬁaﬁqﬂﬁﬁaﬁﬂ%‘_l

2. I8 WY H THAE YHR T S e,
Aerei 3R fersiell iy Icad X wan 21

3. A 9 gorisft F AR B AR, TE:
‘ﬁ%‘[ﬁ-ﬁﬁﬁ (anvil tops)' S8 B4 2

& ¢ FySiwarst ¥ UR W A" yHR Y TETH
Hifs)

(a) T FITH A9 (Stratocumulus)
(b) a9t §9 (Cumulonimbus)
(c) UET FHUTH BY (Cirrocumulus)

(d) TuTE B9 (Nimbostratus)

104. W1 M@ T WeRfa w1 =Ed @ 6 fEa

TR $21 % 3 TR, AHG:, SHEEA] AHER 3
Tt A gen FvE § wEfyg §1 Wi %
fou fPrefafas & ¥ f9-w w@ifts 9w
qrm?

(@) 9 AR (Pie chart)
(b) W UTF (Scatter graph)
(c) T8 e (Bar chart)

(d) 3@ % (Triangular graph)




101. Consider the following statements about

Kanaganahalli archaeological site :

1. It is situated on the bank of Bhima
river.

2. The remains of the Kanaganahalli
Stupa can be dated between
1st and 3rd centuries CE.

3. Emperor Ashoka’s image was found
at the site,

Which of the statements given above are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

{d 1,2 and 3

102. Which of the following statements about

volcanoes are correct?

1. The strength of a volcano
is measured by the Volcanic
Explosive Index.

2. Iceland and Philippines were
created by volcanic activity.

3. Volcanic soils are rich, deep
and fertile and allow intensive

agriculture to take place.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
(d 1,2 and 3
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103. Consider the following characteristics of

a cloud type :
1. They are born through convection.

2. Only cloud type that can produce
hail, thunder and lightning.

3. They are large cauliflower-shaped
towers, often ‘anvil tops’.

Identify the type of cloud on the basis
of the given characteristics.

(a) Stratocumulus
(b) Cumulonimbus
(¢) Cirrocumulus

(d) Nimbostratus

104. Meena wants to show diagrammatically

37

how two sets of data, namely,
population size and number of services
are related to each other. Which one of
the following will be the most suitable
for the presentation?

(a) Pie chart

(b) Scatter graph

(c) Bar chart

(d) Triangular graph

[ P.T.O.




105. Frafafes weflm o=t & A fredh ged o

2@ 87
(a) ity
(b) TS
(c) WERIZ
(d) g e

106. Fmfafaa wut § ¥ FH-91/09-3 6 2/87

1. Toemammm e o -eg o R
2. AT YO UH SR U B

i o Mg g2 w1 @ W Ed@ W ghi)
(@) Fae 1

(b) = 2

(¢ 1 3R 2 3F!

(@@ F@1ARTA 2

107. a9 2011 3R 2021 ¥ &9 YRa ¥ TS

& 4 gfg g ¥ qufy, s smEfy ¥ dw
wTd % forg aaresTiea &= & wft oft g 27

(@ f@ @[ 99 [70 Wiowa d 1 faam
HYAAT (canopy density)]

(b) WeEH WO 9 (40-70 Wiowa ¥ =
oo weman)

(c) Ge a9 (1020 wfowa % = foam
)

(d) (b) 3R (c) 3
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108. ¥ fhen +fifd, 2020 ¥ wefm fr=fafaa

FE R foER i .

1. =9 2025 9% WA IR I=aw e
Yot % HeAw ¥ wH-Q-F9 50 wiowd
Torenfiiat < st fRian @ smof)

2. waAfhE foamem, 3me Ho  amo,
uifeefds ik wrf @ & W
Hedm w4

3. =auys fien e w9 § R-wed
Al (NGOs) 51T 9&H i Sefi |

I FE A A BH-A/AA-A G R /E7
(a) %4 1

(b) Faa 1 3R 2

(c) Fad 2 3R 3

(d 1,23R3

109. Hifa (NITI) 3R & smer, FrefaRea & @

T 1 FH-91 GG, G99 THo Fo Mo WRa
ga®®, 2020-2021 (Composite SDG
India Index, 2020-2021) & G=q 14 27

(a) W, gRES, fagr
(b) IW T, FREE, fRR
() I W, feER, @y

(d) 3nfem, foEr, wrEe



105. Which one of the following Indian States 108. Consider the following statements
has the longest coastline? concerning the National Education

Policy, 2020 :
(a) Tamil Nadu i

1. At least 50 percent of the learners
through school and higher

(c) Maharashtra education system to get exposure
to vocational education by 2025.

(b) Gujarat

(d) Andhra Pradesh
2. Secondary schools should
collaborate with ITIs, Polytechnics

106. Which of the following statements is/are and local industrics,

correct? 3. Vocational education to be

1. Visakhapatnam Port is a land- exclusively provided by NGOs.
locked harbour.

2. Deendayal Port is a tidal port. Which of the statements given above

is/are correct?
Select the correct answer using the code

given below. PR

(@) 1 only

e oty (b) 1 and 2 only
on

(¢) Both 1 and 2 () 2 and 3 only

(d) Neither 1 nor 2 (d 1,2 and 3

107. There is an increase in forest cover area
of India between 2011 and 2021.
However, there is a decrease in forest
cover area of India during the same
period in

109. Which of the following sets of States
is at the bottom of the Composite
SDG India Index, 2020-2021 as per
the NITI Aayog?

(a) very dense forest (canopy density of

more than 70 percent) - (a) Assam, Jharkhand, Bihar
(b) moderately dense forest (canopy

density between 40-70 percent) (b) Uttar Pradesh, Jharkhand, Bihar
(c) open forest (canopy density (c) Uttar Pradesh, Bihar, Assam

between 10-20 percent)

(d) Both (b) and (c) (d) Odisha, Bihar, Jharkhand
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110, frfofas # ¥ F9-m, wRa F dfavE *

FT=IE 51 1 W TE 77

(a) iy wifa 3R guan H g

(b) TE ¥ " FEETE i FEEg e
I T TG

(c) ¥aigE fmel & wwum % fag UN
wrife &1 1 W@

(d) WETEYH T Ay fFarl % feer %
oo vreafea e

111. 7 ¥ =H, 2-Frag anz‘taﬂ (NAM) & o

T (formative phase) § FEM g #
it TE e

(@) M GEATE (Kwame Nkrumah)

(b) ST IR A (Gamal Abdel

Nasser)
() AR &

. (d) fihee & (Fidel Castro)
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112. sgaerl % gay #, Fafafea § @ #9-8

qé &7
1. 37 Y95 3R ferwr )

2. T Iem-Iem s qiErt g Fafa
o ST @)

3 3 qgTA F89 (Deccan) 3R wewg 4
9

919 e T %= w1 @ W FE IW gAY
(@) Faa 1 3R 2
(b) Faa 2 3R 3
(c) ¥« 1 3R 3
(d 1,23R3

113. Hrewera #, fmen # st gieg @t snfeesies

¥ ¥ WHARG F 9 TG99 IR TR
T A P 917

(@ S A
(b) a‘fémﬂ%ﬂ
(c) TS T
(d) fTaferm sféw

114. T8 & FWHEHEN T F Ao F R § R

e, a7g faerdis &1 ora® T § B 87
(a) TREAV G

(b) ¥ TR

(c) WTeTEg AHTS

(d) Tz S




110. Which one of the following is not a part 112. In respect to Balutedars, which of the

of Article 51 of the Constitution of
India?

(a) Promote international peace and
security

(b) Maintain just and honourable
relations between nations

(c) Use of UN peacekeeping force for
resolution of international disputes

(d) Encourage settlement of inter-
national disputes by arbitration

statements given below are correct?

1. They were village servants and
artisans.

2. They were employed by individual
peasant family.

3. They existed in the Medieval
Deccan and Maharashtra.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d 1,2 and 3

113. Which one of the following Viceroys was

111. Who among the following was not in
the core leadership of the Non-Aligned
Movement (NAM) in its formative phase?

(a) Kwame Nkrumah

the first to officially shift his Council
to Simla in summer season?

(a) John Lawrence
(b) Lord Dalhousie
(c) Lord Mayo

(d) William Bentinck

114. Who among the following is the author

(b) Gamal Abdel Nasser

(c) Jawaharlal Nehru

(d) Fidel Castro
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of Maze Vidyapeeth, the famous poem
about the life of working class of
Bombay?

(a) Narayan Surve
(b) Amol Palekar
(c) Bhalchandra Nemade

(d) Narendra Jadhav

[ P.T.O.




115. 7 A o 10ff vt A Rg wi e A 110, T @ R wwdh T (Payyoli

TG ) ofi? Express)’ & T8 & =1 STt 27
(@) THTHE 39
(b) W HEd T -, e
(c) ERHFTY R b) T ==
(d) v =g ¥
(c) o Fo 3
116. 3 A, 2021 F HIF Y HE@WT G SfFR
fre M W # a9 2023 W Fead R () T
e a¥ 7 1 Fofg fern mn?

(@) @urvir fawm % R Afw Rgw

(Basic Sciences)

120. ¥t @A gEFR, 2022 % faeaet @

waftd g1 A gh-11 F @ gafa it
(b) F ok e A foe T g o = ad
c) T (Millets) TN ﬂﬁ'ﬂ.:
(d) ¥z (Camelids)
gei-1 11
117. Fifds 7ao@, R 1cC go9 T20 faae, (g =1 T 3R faun) (FrE)
2022 § AR @14 F%erar T R, . ;
ﬁmgmmwﬁﬁﬁam%?(%) A 9§ (FE0-wR) - 1. o
(@) R B. @%W(‘eﬁﬁm— 2. dton 7w
(b) W 3 IR ek .
W C. B &Y% (TRF-ug) 3. ¥ TNEA"
(@) TR D. 3G 3ar (A1) 4. TN FAR Treanh
118, TR T (Wassenaar Arrangement) &% e
Hay ¥ frafafas # @ ¥F-m wm wd T @ A B e D
?7 : S N
(a) T8 =Feq ¥ 42 wfawrft 3w miva §) :
M) A B&ieap
(b) T T FEAW: Th WY TRER e B S M
e (nuclear weapon overseer) %
w9 § fapan m) ' A Bt
(c) WA T8 A F1 TEAH A 2 AR S
(d) ¥R 30 Faw ¥ 99 2017 § Wit d ‘KB ca%D
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115. Who among the following founded
the Hindu Dharma Sabha in the
19th century?

(@)
(b)
(c)
(d)

116. The

Radhakanta Deb

Ram Mohan Roy
Dwarkanath Tagore
Keshab Chandra Sen

resolution adopted by the United

Nations General Assembly on 3 March,
2021 decided to celebrate the year 2023
as the International Year of

(@)

(b)
(c)
(d)

Basic Sciences for Sustainable
Development

Glass
Millets

Camelids

117. Karthik Meiyappan, who secured
hat-trick in the ICC Men’s T20 World
Cup, 2022, represents

(a)
(b)
(c)
(d)

Zimbabwe
United Arab Emirates
Sri Lanka

Namibia

118. Which one of the following statements
about the Wassenaar Arrangement is
not correct?

(@)

(b)

(c)

(@)

There are 42 participating nations
in the Arrangement.

It is formed primarily as a nuclear
weapon overseer.

India is the current Chairman of
the Arrangement.

India joined the Arrangement in
the year 2017.

JNBY-D-GNL/59A

119. Who among the following is known as

‘Payyoli Express’?
(a) Hima Das
(b) Dutee Chand
(c) P.T. Usha

(d) Shiny Abraham

120. Match List-I with List-II relating to
Sahitya Akademi Award Winners, 2022
and select the correct answer using the
code given below the Lists :

List-I
(Title and Genre)

A. Bhool Satya (Short
Stories)

B. Tumadi Ke Shabd
(Poetry)

C. Chhe Roopak (Drama)

D. Alekhun Amba (Play)

Code :

(@) A B &
1 2 3

(b) A B i
1 3 2

(c) A B &
4 3 2

(d A B C
B 2 3

o o

Ll =

List-II
(Author)

Kamal Ranga
Veena Gupta
Badri Narayan

Manoj Kumar
Goswami

[ P.T.O.
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